30,000

1000

3

N

=




19,105 10,124 | 53.0%
37,784 25,396 | 67.2%
30,878 14,136 | 45.8%
15,036 9,226 | 61.4%
13,833 8,245 | 59.6%
499 495 | 99.2%
2,612 2,455 | 94.0%
817 758 | 92.8%
3,926 3,073 | 78.3%
124,490 73,908 | 59.4%




1000 5 50,000
8 4,733 12,035 15,757 51,398
9 4,789 12,554 16,375 54,213
10 5,259 10,144 16,521 64,296
1000 3 30,000




km
940m
1000m
880m
H12







39.40

59.60.61

H2.3

H10.11

19










No

( 34%) ( 8h) ( 2%)
(21%) (17%) ( 1%)
( 45%) ( 75%) (28%)
(100%) (100%) (31%)







